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MATH 308: WEEK-IN-REVIEW 6 (3.4-3.6)

1. Use the Method of Reduction of Order to find a second solution to the following differential equation

22y + 3y +y=0, x>0, y(z) =2z

Suppose Y 2'('3'*) = u(x-)'lél: u()% | s a second solublon .
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2. Suppose you were to use the Method of Undetermined Coefficients to solve the following differen-
tial equations. Write out the assumed form of the particular solution, but do not carry out the
calculations of the undetermined coefficients.

(a) v+ 4y = 2® — 20 + 1
Rad "d\(ﬂ)'
SO\W ‘\éf_‘-t\“a"
Wiy =0 K= -3 A=E2
> Y, (=)= C, cos (20 ¥ ¢, sin (2%)

K

Clawose [y (2) = Ao +Ba+C

1

(b) ¥’ +4y = xsinx

n (
Rnd %C(x,): From 2.(o) qacf_x,)t- C\C,%(Zx)'\' c,sw 23¢)

Cloose, qaf(’_fx,) = ({3( o -\—67 sin (2(,) i (C;x- '\_’D) cold C"—i
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Clhoogp

3. Suppose you were to use the Method of Undetermined Coefficients to solve the following differen-
tial equations. Write out the assumed form of the particular solution, but do not carry out the
calculations of the undetermined coefficients.

(a) y’ — 2y’ + by = xe” cos(2x) + e” sin(2x) Z_ 5

= (*2¢

% x
‘Ua.c(x\ = C,e e =) & c,e sin(2x)

'i \
@ :JCDS x) + K—(C&'\_D’)Q,S\ﬂelab)
S —

43?(@ = x (At

(b) ¥ + 4y = xsinz + cos(2x)

And %CGQ: ﬂé_c@q = C\QOS

(22) ¥ €510 (2x)

) = (P +8)eos(®) ¢ (Cx+D)s10(=)

+ o Eees(2%) * x F atn (@)

C \'\00 &R
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4. Solve the following equations using the Method of Undetermined Coefficients. If any initial value is
given, then solve the initial value problem. If no initial value is given, then find the general solution.
Find an explicit solution if possible.

(a) f/ —7f' +12f =2, f(0) =0, f/(0)=—L.
Rad £(6)° L=]AH2=0> (A-5(A-4)=0 S A=3 1 =4
3% 4k
)= Cc e +Ce
%c \ 2 ’
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5.
9" +2¢' +29=2t, g(0)=0, ¢'(0) =1L

Fod o )0 Xt2A+2=0 A= - 2T2?—42
C' /

2
— _o%¥2( = —\Ev
==

2
%

§ )= C,e,oos(Jc)Jr C)_es\nUc)
g ) = herd, %'—A 3?«0

~ Ot 1A+1U\HB] LAt + (2AT28)

I e
%?+1%?Jr %? .
—0>28="25%
2A=2 ™ =1 2 A+ 2D -
oR= -2 = o)
%M;b*\ 5 SEn)
Wta ()= cews(eyrclesm(\ﬂ
Gl souion: 40 =4 ITGO=CETTIE
¢ (£)— C,e,tSmUc) c,esm(k)A—c R CD
%(b}“-’Ce&bs
=\ = -:_\
%(o) :"C(Tcz-\'\ \ o

v -kt
%({:) = e Q/DS(_JC)-\‘ Q,S\f\(’c)"vic \

Copyright (© 2025 TAMU Math Learning Center Math 308 WIR 5: Page 5 of 11



TEXAS A&M UNIVERSITY
AFW Math Learning Center Math 308 - Spring 2025
) WEEK-IN-REVIEW

6.
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7. Solve the following equations using the Method of Variation of Parameters. If any initial value is
given, then solve the initial value problem. If no initial value is given, then find the general solution.
Find an explicit solution if possible.

(a)

w42 +u=2e?

< -t
-t T -
> 4, A

w ) = e ¥ e te
c ‘ =
~t -
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; ) | |
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(b) Solve the initial value problem

3y" + 4y +y=-etsin(t), y(0)=1, 3/ (0)=0.
. 2 Y
Fod 4 (6). 232+4A+1=0> A= -4Edp— 4>
-t —tfy b \
= = —itw ‘-‘——&t—_
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e - (
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~ -t -4t 4t
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_ L )
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¥ Sandod Hom % '134—%%4——3% 3 )
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-t "2t N Pt ey - 3 ey N
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—t -6 _b
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P 2 (3 2%
- & — e
and Yy = e Ge % le cast%\-%esin(f\—%_c:ecosce)
. . —_ _ 2
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8. Given the complementary solution y.(t) = Cit 4+ Cat™1, use Variation of Parameters to find a
particular of the differential equation

t2y" +ty — 2y—t2 t>0.

wEtYs ¢ o> W= \@43 *q_;a_—t(t)—lt
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9. Find two linearly independent solutions of t?3” —2y = 0 of the form y(¢) = ¢". Using these solutions,
find the general solutlon of t2y" — 2y = 12, , t20

_ 24 =1
P\\A% ”\ (‘t} -‘: 1“'\-D ‘\'ﬁ\a, e_q:u.c..hOn * 1& em& *

4&/.—_-_ chr—-\ '\ér—r(f-\)t

?' ! 2_43_ [(r—\) 1]-t Y_r - L]t =0
3> roc-2 =0 (r-2)(r+)=0
r=2,¢="\
1
«?jm—t Yozt = W(t\—‘éL‘j “J“d = ()=t )- (ze)(t)

= —-2=-3
=\
%PQQ:uI'\é(-\— “Lq’&z w = &L-’c' \d{:':- —‘—L\t
% VL E -3 3
:—’C\V\JC————t
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10. One solution of 4t%y” 44ty + (16t> — 1)y = 0, t > 0is y(t) = /% cos(2t). Find the general solution
of 4t2y” + 4ty + (1612 — 1)y = 16t3/2.

*yryr (e )ys g Srvdort fren equation
L %0 = & o5t - s y ).
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